«YMHOXeHUue gecATUYHbIX




BMeCT






Nol BbIUMCRIUTE YCTHO

0,3-6 =18 0,03-1,5= 0,045
0,4-9 = 3,6 0,4-0,2= 10,08

5.08=40  09-L1= 09
1.5-4 = 6,0 0,05-0,02 = 0,0010
0,8-0,011 = 0,0088

2.5-3=15

15-0.6 =9.0 0,35-0.3= 0,105
0,2-0,041 = 0,0082

1,2-5= 6,0 A
0,040,015 =0,00060




No N3BEeCTHO, YTO

2
37-81=2997
YeMy paBHO:
3,7-0,81= 2,997
0,37-8,1= 2,997
0,037-8,1= 0,2997
3,7-81= 29,97




[lomaluHee 3agaHue

C. 231
Ne911 Ne913,
(NUCbMeHHO)
PaboTy npuckrnarb He Haao




Pedynekcus

Ha ypoke s y3Hais...
#1 cMor camoCTOATeNnbHO. . .
41 TI0Ka 3aTpyAHAIOCh. ..
MHe 1nmoHpaBUIOCh...




